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SECTION-1| GENERALAPTITUDE TEST | 25 QUESTIONS

Twopositionsofadiceare shownbelow. If Q1  U% urt & 1 Rl S guid o &
number 6 is exactly opposite to number 3, & ale wE 6, ¥ 35 3 fAgda & o
then which number is exactly opposite to :f. Wem 2% < Roia &9 @ dan
number 27 ! gfi?
(A) 1 (A) 1
(B) 4 (B) 4
(C) 5 (C) 5
(D) 6 (D) 6
In the figure depicted below, if the pentagon e ewid 7€ sngfa A afy g @

is rotated anti-clockwise 270° once and the
triangle is rotated clockwise 270° twice what
will be the final figure ?

)

U A armad 270° gAmET oen & oin
Pt &1 &1 ar <fomad 270° garn
e &, o aRenfae angf H enf?

(A) @ (A) @
-
(C) @ (C) @
(D) @ (D) @
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Q3

Q5

Q6
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Select the option that is related 1o the third
word in the same way as the second word is
related to the first word.

Kitchen : Refrigerator :: Bathroom : ?
(A) Television

(B) Geyser

(C) Microwave Oven

(D) Sewing Machine

In a certain coded language, if BRAKES is
written as TAGPNX and CLUTCH is
written as IBEJWR, then how will be the
word WHEELS written as in that language?
(A) TYMGFD

(B) TVNEHB

(C) XRIJHB

(D) TVNFHB

In a certain coded language, if RAMESH is
written as TBNFTJ and MITALI is written
as NJVBNJ, then how will be the word
RANBIR written as in that language?

(A) SBOCJS

{(B) SCODIJT

(C) TBPDIT

(D) TBPCKS

Deepika is the mother-in-law of Privanka
whose hushand is the father-in-law of the wife
of Ranbir. Salman is the only son of the
husband of Deepika while Katrina is the only
daughter of the mother of Ranbir. How is
Salman related to Katrina?

(A) Husband

(B) Brother

(C) Father

(D) Grandfather

Sy

L

Q3

Q5

Q6

g% fawen g, foraer drat v @ |
3 a1 & Wau 2, I g e @
TEd e B A E

THIE : Weia® = e 7
(A) <olifaw

(B) =1 Ho—ul (o)
(C) wiZwag aEA

(D) farE #d=

f&dl FRea o2 W 4, af@ BRAKES
# TAGPNX & wu # foran wmen @ afie
CLUTCH &' IBEJWR @ w4 # foram
Wi &, o '8 WHEELS &1 fébe wg #
ferar wmgm?

(A) TVMGFD

(B) TVNEHB

(C) XRIJHB

(D) TVNFHB

farelt FPf¥ma @ W # afd RAMESH
® TBNFT) & w9 # foran wmen & afv
MITALI &1 NJVBN] & ®q # feran s
2, O I RANBIR &1 fsw wu o foran
FATET?

(A) SBOCIJS

(B) SCODIT

(C) TBPDIT

(D) TBPCKS

<, s & wa & s oy, e
Pl 9ol B WG T o, e B |
ofy & IHcran 41 & wafes dedn

WER #H Al B FHe 4e) & | wAwA

@ el | F91 Hag 87

(A) R '

(B) #E

(C) faam

(D) ==t
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Q7

Q8

Read the given statements and conclusions Q7
carefully. Assuming that the information given

in the staternents is true, even if itappears to

be at variance with commonly known facts,

decide which of the given conclusions

logically follow(s) from the statements.

Statements:

1. Some lions are cats.

2.  Allcats are tigers.

3. Notigerisanelephant.
4. Allelephants are rabbits.

Conclusions:

I) Sometigersare lions.

II) Noelephantisa lion.
IIl) Some cats are elephants.
IV) Some tigers are cats.

(A) Onlyconclusion II follows.

(B) Only conclusions | and 111 follow.
(C) Only conclusions Il and IV follow.
(D) Only conclusions I and IV follow.

TBS5

AAEGa

Select the option that can replace the Q8
question mark (7) in the following series.

SUPER, PSRUE, RPESU, ERUPS, ?,
SUPER

(A) PSRUE

(B) UESRP

(C) EURSP

(D) USERP

faw v FeEt v Presdl @ e @ o
T8 A9 §¢ & FuEt d 6 weerd
W ©, W & 98 W o aedi 9
o 8 i A B, 7w ol o £ faw g
Frepet # 9 =9 w1/ 9 fFrepd arféfs wu
¥ PHUA] B AT HeT &/ P B |

Hef:
I. =© 4, fafeedl 8
2. i fafeei, am &)
3. @13 1 am, ael T8 &
4, Wi greft, @ £

o

) oo 9y, [4E §1

m =i N erh, fis =6 &)
1) $o fafeadr, seh &)
V) %5 T, fafeedf &

(A) @ad e 11 argever wear 8

(B) @ac fsmd 13w 111 Ao &
gl

(C) @ae Frpd 11 3iR [V argaRor s
g

(D) @aa Fpd 13 1V R sl
gl

9% f@en gt o i @ 1 sien A
wEfaEs (7) & wforenfoa v g@ar 81

SUPER, PSRUE, RPESU, ERUPS, ?,
SUPER

(A) PSRUE

(B) UESRP

(C) EURSP

(D) USERP
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Select the number that can replace the
question mark (7) in the following series.

51, 44, 49, 42, 47, 40, 45, 38, 7
(A) 31
(B) 33
(C) 43
(D) 45

The ages of two friends Ramesh and Rajesh
are in theratioof 4 : 3.

Which of the below pieces of information is

additionally required to answer what the

average age of Ramesh and Rajesh is?

(A) Ramesh is 10 years older than Radha
whao is the younger sister of Rajesh.

(B) Theage difference between Ramesh’s
father and Rajesh’s mother is 8 years.

(C) 6 yearsago, the ratio of the ages of
Ramesh and Rajeshwas 3 : 2,

(D) Ramesh was 12 years old when Rajesh
was in senior KG in his school.

Fivefriends A, B,C,Dand Eareseated ina
row and are watching a movie. Aand D are
seated at the extreme ends while B is seated
exactly in the middle,

What additional information is required to

answer who is seated nextto A?

(A) B isseated immediately nextto both C
and E.

(B) C isnotseated nextto D.

(C) Cisseated nexttoB.

(D) Bisseated nexttoE.

Q9

Q10

Ql1

a5 wHem g o A @ v swen ¥
wwfaeE (7) ® wfdsafa s 9@ 2

51,44, 49, 42, 47, 40, 45, 38,7
(A) 31
(B) 33
(C) 43
(D) 45

1 firs o ofiy wolw & amg 403 @
3T 9 B

A9 & wd @ W SEd g9 uwm

SR o1 @ forv afvfes vy 4 smaegs

8, & vire afr worw & afvea amg @

#?

(A) W, e 9 10 9F @@ & S v
o B a8 B

(B) vy & fren sl wiotw &t 4 @ @9
g T AN s &

(C) 6=d qd, v 3w vty @ ang =
U 3:29r|

(D) e oty A Rareg 3§ Sif e
Bl | o, aq v 12 9d &1 oarn)

| = A B,C,DIl ETs ufdm &3
# ol fisew 2w @ &) A 3R D siftm
BRI & afs g fa i der &7

% 9T 9 @ o frw aifaRaa sFerd

@ amaegan 8, 5 A S ara § @9 der

#7

(A) B,Calv EaWi & &1 e # o
®i

(B) C,D@& ared % 7181 @or &)

(C) C,B® wirel W a1 &)

(D) B.E® e # da1 £
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QI12

Q13

Ql4
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A isthe brother of Band sonof Cand D. E
is the husband of B and father of F.

What additional information is required to
answer how C isrelated to A?

(A) B isthe only daughter of C and D.
(B) D isthe maternal grandfather of F.
(C) Fistheonly grandson of C.

(D) A isthesonofC.

In a certain coded language, INCOME is
written as HPFENOG How will be SAVING
written as in the same language?

(A) RCVHPG

(B) RXCHIP

(C) RCXHP1

(D) RCXHPG

If in a coded language MIND is written as
IMDN, how will be GAME written as in
the same language?

(A) GEMA

(B) MEGA

(C) AGEM

(D) EGAM

AE0TATES

Qi2

Q13

Ql4

ABHTaE EalR CalR D@ ae1 £ 1 E,
B# ufty afiw F& famm &)

48 O <1 @ fau #9 W afRew
WFHR & AEEs B, F CH AD
| @ e 27

(A) B, C3fie D& gwardl 98 2

(B) D,F& =1 £|

(C) F,C &I sdeitar U & |

(D) A, C T 42T #|

e Mf¥Ed @iz wiwr # INCOME &1
HPENOG & w4 # famn wmar 2
SAVING &1 98! g T # f&e w9 4
forar wmem?
(A) RCVHPG
(B) RXCHIP
(C) RCXHPI
(D) RCXHPG

afg vs @ A ¥ MIND %1 IMDN @
w9 # foran oman 8, @1 GAME @1 9%
&g arr # few W ¥ foran smgm?
(A) GEMA

(B) MEGA

(C) AGEM

(D) EGAM
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QIS Inthe given series, one number is wrong. Q15 & ¢ sjwen A, U@ WM Tod £ 9

Select the wrong number. el | g1 |

18, 22, 44, 48, 52, 100, 200 18, 22, 44, 48, 52, 100, 200
(A) 48 (A) 48

(B) 52 (B) 52

(C) 100 (C) 100

(D) 200 2 (D) 200

Q16 Select the number that will come next in the Q16 @& W g i Fforian saan i

following series. A ey |
3,4, 13, 38,87, 168, 7 3,4, 13,38, 87, 168, 7
(A) 199 (A) 199
(B) 289 (B) 289
(C) 203 (C) 203
(D) 259 (D) 259
| Q17 IfXAY implies X7 + Y2 Q17 R XAY @1 aread X2 + v &
| XBY implies X?~ ¥? XBY &7 aweqd X?— Y&
XCY implies (X + ¥)? XCY®armd (X + Y &
‘ XDY implies (X — ¥ )? then, XDY &7 oy X~ 17 -g'
‘ Which of the following is TRUE? o1 f=ifeftaa 8 9 o1 weg &7
(A) (7C3)~(6D6)=-100 (A) (7C3)~(6D6)=~100
(B) (3C2)D(5B5)=624 (B) (3C2)D(5B5)=624
(C) (3A2)B(5C4) =88 (C) (3A2)B(5C4)=288
(D) 216D256 =-1600 (D) 216D256 =-1600
LM-B 8 SERIES-B-B




Q18 If P+ Q means that P is the sister of Q,

Q19

LM-B

P+ Q means that P is the mother of Q and
P % () means that P is the brother of Q,
which of the following means A is the aunt

of D?

(A) A+ ExD
(B) F+A+ExD
(C) A+B+CxD

(D) AxE+BxC=+D

Select the option that is related to the third
term in the same way as the second term is

related to the first term.

Pressure : Pascal :: Current : 7

(A) Volte
(B) Joule
(C) Watt

(D) Ampere

QI8 AR P+Q@Tanf & 5 QI 787 2,

Q19

P+Qaraef & f5 P,Q & #i & 3k

PxQ@m a2 s pQa wE & &
Feferias # 9 fromr anf & f5 A, DY
=T/ AT /AT /T /g3 /W 27

(A) A+ ExD
(B) F+A+ExD
(C) A+B+CxD

D) AxE+B=xC+D

T8 fawey g o e v 9 O S
UHR Haftd 8, O g gE e v
e W A ¥

T4 : URed = fgga-awr: ?
(A) T

(B) Set
(C) T

(D) Vg

SERIES-B-B
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Q20 Read the given statement and conclusions

Q21

LM-B

carefully and select which of the conclusions
logically follow(s) from the statement.

Statement:

The changing trends in Indian cinema has
witnessed big budget star powered movies
doing poor business and a lot of small budget
content driven movies eaming good business.

Conclusions:

() The low budget movies are huge hits
due to their story conlent irrespective
of the star cast.

The big budget movies are flop at box
office for casting big stars.

(i)

(A) Onlyconclusion (i) follows.

(B) Only conclusion (ii) follows.

(C) Both, conclusions (i) and (ii) follow.
(D) Neither conclusions (i) nor (ii) follow.

Village P is to the east of village Q.
Village R is to the north of village P.
Village S is to the west of village R.
Village S is towards which direction of

village P?

(A) South-east
(B) South-west
(C) North-west
(D) North-east

LI EELLISY

10

Q20 BT T FuE IR Prepd o e @ w3
I faftma = 5 & w1/9 P
s ®1 W PUA B FTEOT Bl
g/aw £

Q21

.

arei R A geed R ga o A
Tadl % v § 5 Rl (o) @
7 quic 3 el @vm sNER FW W
¢ R Rvg-aw smfla oR wwe
&3 e afga saw = v &)

freed:

0 Fart (FaeR) @ T o ake
HEwd A1 o U Ay s aerft @
TR B Tore A et ada wed
vl B

() = Ryari (@ersnl) @ au @ s
e quie o e diawr afifta o
T E # |

(A) waa Frepd (i) s &var &)

(B) @aw e (i) argeor s &

(C) =i, Freed (i) 3w (i) srpeeor v
£l

(D) = ar Fresd (i) =1 8 (i) e Hwan
gl

TaPTRQBEWAR | AR TapD
S H &) g S, Wig R ufdem # &
g S, g P fare R o aiw &7

(A) = - gd
(B) =fErr — uftam
(C) ST — uf¥em
D) S - @
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Q22 Select the option that is related to figure (C) Q22 =% fawe g+, fowa amfar (C) & am
in the same way as figure (B) is related to oI 3w 8 Wey 8, S angfy (B) @
figure (A). SpRY (A) & wrer B
i T A®l D], [0, ,
[* 4 |20 * 0|64 &0
(Al (Bl (© (al 1:1] ic)
2 0 2 O
“ls_o “lo_o
O % O =
(B) 0 o (B) & o
(©€) (€)
¢ O g O
¢ O % 0O
(D) o o (D) O o
Q23 Identify the odd word. 'r\ Q23 fauq weg o yBAR HY|
Square, Triangle, Rhombus, Sphere, T, Erqor, weg, e, |
Parallelogram, Rectangle, Circle, Pentagon, A, A, GE, G, TSI
Hexagon (A) Pt
(A) Triangle (B) TireT
(B) Sphere (C) 3@
(C) Circle (D) wEaIor
(D) Hexagon
LM-B 11 SERIES-B-B




Q24 The list given below contains figures which 1 Q24 &t &) w7 3t 3 Ut angpfevat witaferer

Q25

have something in common.

Cylinder, Cuboid, Sphere, Prism, Pyramid,
Cube

From the below given options, identify the

one that can be classified as part of this list.

(A) Rhombus
(B) Cone

(C) Square

(D) Parallelogram

Study the Venn diagram given below and
identify which option is correct with reference
to the diagram.

=i

Aeroplane

(A) Some birds are not aeroplane.
(B) Allaeroplanes are birds.
(C) Allbirdscan fly.

(D) Some aeroplanes can fly.

LM-B
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Q25

& formt oo swafreo (Grm) 21
o, gam, e, fom, Rofis, w9

A Ry v et # 9§, 99 Aeeg 3
UEET $Y ford §9 YAl & AT B wU A
i g @ wwar 21

(A) TrEgS

B) 7%

©) =i

(D) HAITR T

=i Tl 70 99 AN T A o AN

ey fb & 1 feer sma & Hed |
wE B

() (

arg am-

(A) TB Ul argg T8l |
(B) i argar wh )

(C) &l el 98 |ad £
(D) HY TYIF IS T § |
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SECTION-2| GENERAL KNOWLEDGE | 50 QUESTIONS

Q26 Every year, in which of the following districts

Q27

Q28

Q29

of Uttar Pradesh is Bateshwar Mela
organised?

(A) Kanpur

(B) Varanasi

(C) Mathura

(D) Agra

What is the suitable time of sowing the
indigenous variety of cotton (kapas) in Agra
district of Uttar Pradesh?

(A) First fortnight of April

(B) Mid-April

(C) First fortnight of May

(D) Mid-May

As per Census 2011, what is the population
growth percentage of Uttar Pradesh?

(A) 2021%

(B) 20.23%

(C) 20.30%

(D) 2032%

In which of the following districts of Uttar
Pradesh is the Union Government's opium
factory located?

(A) Varanasi

(B) Ghazipur

(C) Ballia

(D) Kanpur

LM-B

S4QTIT

i3

Q26

Q27

Q28

Q29

ST wew @ fefafiaa 4 @ few o 4
uftr o ¥evax Ao amifoa & wmn
2

(A) FFE

(B) TR

(©) =
(D) ST

I WeW & Iy fre | o8 (@)
e 5w @ o = Sugm W
frfefaa & 4 o wr &7

(A) IlE &1 TBST TS

(B) & &1 wex

(C) W& &1 Yl qears

(D) #§ &1 7ea

af 2011 @ T B AR, TN
waw @ e & 9ig it @ 87
(A) 20.21%
(B) 2023%
(€) 2030%
(D) 20.32%

IR W2W & freforea # 9 fFa e |
e TN o IpE B B fem &2
(A) TR
(B) AR
(C) aferan

(D) FFER
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Q30

Q31

Q32

LM-B

In which of the following cities of Uttar
Pradesh is Modern Coach Factory, a rail
coach manufacturing unit of the Indian
Railways, located?

(A) Racbareli

(B) Mughalsarai

(C) Prayagraj (Allahabad )

(D) Lucknow

Kashi is a famous Indian pilgrimage centre
situated in Uttar Pradesh. It is located on the
banks of the river.
(A) Gomti

(B) Saryu

(C) Yamuna

(D) Ganga

In which of the following cities of Uttar
Pradesh is the Government College of Arts
and Crafts located?

(A) Lucknow

(B) Kanpur

(C) Varanasi

(D) Gorakhpur

45882217
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Q30

Q31

Q32

o v & F=fafaa 4 @ g o
i oaReEm Y| @ e i gerE,
AP Vel Prel Bag (dfe B Bah)
feer 87

(A) TrgEven

(B) Hrerem

(C) WIPRTS (geTTerars)

(D) TETH

ot w3 4 Rera sl v wftg wda
e @ 81 7w Pl 3 & e =6
& e W Rea &2

(A) vt

(B) vy

(©) =g

(D) 7

o W @ fFrefafee 4 9 e mx
# e @ td Rieu wEfigaey
(Tavide Hicial i Iy v wveH)
fera &7

(A) oES

®) FFR

(C) amToTRY

(D) MREgR
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Q33

Q34

Q35

Lucknow in Uttar Pradesh is famous for
which of the following handloom production
centres?

(A) Khariprinting

(B) Saris

(C) Chikanwork

(D) Brocade fabric

Firozabad, a city in Uttar Pradesh, is famous
for which of the following industries?

(A) Saris

(B) Cement

(C) Glass

(D) Locks

Who among the following did NOT provide
assistance to the British in suppressing the
revolt of 18577

(A) Scindiaof Gwalior

(B) Begum Hazrat Mahal of Awadh

(C) Nizam of Hyderabad

(D) Sikander Begum of Bhopal

ARTRZZ1T
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Q33

Q34

Q35

U WS T FEe e Freferfaa #§
1 v suavr (Fsom) e @i &
fog uferg &7

(A) w1 fuReT

(B) W=t

I{C}ﬁaﬁmﬁmﬂ

(D) T & By

TR uew H1 e e, P
A ¥ fw s & foag ufeg &2

(A) wrE

(B) e

©) w9

(D) T

fFr=ferfaa % @ fe 18573 fage &
<4 & forv ST = gewe veE T8
;P

(A) Tarferaw & feifoar

(B) 3 9 ATH BN HEA

(C) Bewmag & P

(D) At & fwey 4w
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Q36

Q37

Q38

Q39

LM-B

The decision to effect the Partition of Bengal
was announced by the Government of British
Indiaon

(A) 7August 1905

(B) 19July 1905

(C) 16 October 1905

(D) 1 September 1905

Who was the leader of the Ghadar
Movement?

(A) HarDayal

(B) BhagatSingh

(C) Madam Cama

(D) Shyamiji Krishna Verma

Who started the Mahad Satyagraha in
Maharashtra in 19277

(A) Mahatma Gandhi

(B) Sardar Vallabhbhai Patel

(C) Dr.BR Ambedkar

(D) Jyotiba Phule

Which of the following Acts was based on
the Montagu-Chelmsford Report?

(A) Governmentof India Act, 1892

(B) Government of India Act, 1909

(C) Government ofIndiaAct, 1919

(D) Government of India Act, 1935
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Q36

Q37

Q38

Q39

fafew wRa wwaw & dma & e @
AR HX S ol 2 amen w9 @ oA
(A) 7 3T 1905
(B) 198 1905

(C) 16 3rFRET 1905
(D) 1 f&eaw 1905

TR R B AT P o
(A) R =g

B) wra g

(C) % &

(D) varTe Fwr T

1927 ¥ "ENTE ¥ WEE WeawE e
R T ar?

(A) HETe TR

(B) NG dechHrg 9ee

(C) €. 4. IR, s

(D) waifEr gt

fr=fafaa & @ @9 W afefam
Aieg—araere R av amnfa ar
(A) WG avar Al 1892

(B) WId WYaR 3iffrgm, 1909

(C) wa W afafigw, 1919

(D) WA \YaN Afefgw, 1935
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Q40 Whendid the Muslim League join the interim

Q42

Q43

government under the leadership of
Jawaharlal Nehru?

(A) 2September 1946

(B) 14 September 1946

(C) 24 October 1946

(D) 14 November 1946

Who was the chairman of Boundary
Commission for India and Pakistan which
was announced by Lord Mountbatten in
19477

(A) Lord Curzon

(B) Lord Wavell

(C) ClementAttlee

(D) Cyril Radcliffe

The latitudinal extent of Indinisfrom
north to north.

(A) 8°2°;37°4

(B) 8°4’;37°6"

©) 8737

(D) 8°3°;37° 5%

Which one of the following rivers does NOT
fall in the Guifof Khambhat?

(A) Mahi

(B) Sabarmati

(C) Koyna

(D) Tapi

Q40 TETEYETS TEw @ g § qitem o,
siafm wear # wa wivfem gd 07
(A) 2 TaaT 1946

(B) 14 fociav 1946

(C) 24 JFTT 1946
(D) 147794 1946

Q42

Q43

1947 % &id urdedes g ifba wRg
v ufeem @ fay W s @
e T 47

(A) & Hat

(B) S de

(C) wirie veeht

(D) FaRe Yol

o o weiy w0 awd
_ wmaw B

(A) 8°2';37°4°

(B) 8°4";37°6

(C) 87 ;379

(D) 8°3°;37°5

frfafa F @ @ @ 98 wa &
ard) # 78 Ped 87

(A) el

(B) wEwR

(C) T

(D) amdt

SERIES-B-B

LR LT]

-




Q44

Q45

Q47

Which is the highest point of the Meghalaya
Plateau?

(A) Khasi-Jaintia Hills

(B) GaroHills

(C) MikirHills

(D) Shillong Peak

As per census report of 2011, which of the
following states does NOT have tribal
population?

(A) Haryana

(B) Goa

(€) Gujarat

(D) Bihar

The Bhutia tribe, widely known for their
traditional grandeur, art and cuisine are found
in state.

(A) Sikkim

(B) Nagaland

(C) Arunachal Pradesh

(D) Tripura

Which one of the following states has the
highest population density according to the
2011 Census report?

(A) WestBengal

(B) Kerala

(C) Uttar Pradesh

(D) Bihar

LM-B
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Q44

Q45

Q46

Q47

WY YR @ wed Sd 98 o @
27

(A) @rf—orafoa geifae

(B) R gEredl

(€) fafere weifat

(D) R =

2011 9 e RO @ sE
frfafia d 9w wa d oFerda
SiEE el 87

(A) e #

(B) T #

(C) o #
(D) fasm #

affear wrronfa, it sl uaRaE e,
e 3 yrE—-dell & forg ame W |
i o 8, few wog A i ol 87
(A) Fafdem #

(B) rIAe #

(C) ITvITas way ¥

D) Frgwr #

2011 @1 wvEn Rotd @ aFWR,
fafafaa # 9§ v wou # SFwem
U waies 87

(A) R Frer

B) Fxa

(C) SR wed

D) fasw
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Q48 Which region in Andhra Pradesh is actively
engaged in the production of petroleum?
(A) Mahanadi Basin
(B) Krishna Godavari Basin
(C) Narmada Basin
() Cauvery Basin

Q49  Mount Elbrus, one of the highest peaks in
Europe, issituatedin |

(A) Germany

(B) Switzerland

(C) Russia

(D) Ukraine

Q50 Whicharticle of the Constitution of India deals
l with ‘equality before law?

(A) 14

(B) 13

(©) 17

(D) 26

LM-B

Q48

Q49

Q50

LGSy

19

3 waw & Frefefaa 4 @ 9 W ds
g w9 ¥ Igifeam @ SareT | o
#?

(A) wETE aft

(B) Fwn Me@d alke

(C) et aft

(D) TR R

T & Seam gda el 4 4 @ Ande
oA @El e 82

(A) o

B) fagsds

(C) &%

(D) @

i wiE &1 Fefafaa 4 @ o
W e fafs wwar ol eFE @
O T § et &7

(A) 14

B) 13

(©) 17

(D) 26
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Q51

Q52

Q53

Provisions regarding the promotion of
international peace and security are outlined
asapartof ___ ofthe Constitution of
India.

(A) Fundamental Rights

(B) Directive Principlesof State Policy
(C) Fundamental Duties

(D) The States

Who is the appointing authority of the
Governor of a State in India?

(A) Prime Ministerof India

(B) Chief Minister of the concerned state
(C) The President of India

(D) The Central Cabinet headed by the

Prime Minister of India

Who was appointed as the National Security
Advisorof Indiaon 31 May 20197

(A) MK Narayanan

(B) Brajesh Mishra

(C) Ajit Doval

(D) JN Dixit

LDoLBISY
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Qs1

Q52

Q53

Sovwrsiiy Wil afiv e @1 agm &
H Wt woa, aRda w@ieaE @
Frefafaa % & fas e o & wu A
Sfeafaa 87

(A) #fers sfesR

®) = & Hfa Fdve fagia

(C) *hfers e

(D) T

e 4 fe oo @ weaura & gl

wfts Freafafaa & @ @ &ar 82

(A) WIRE & werE

(B) W v & qErE

(€) wve @ gfy

(D) wwa & yarriE & sraeen # Sad
GiERER]

31 W€ 2019 W WrRw @ WEE [
weEen & &Y W e Frga R
oa1?

(A) TAE, ARG

(B) @ww fam

(C) 3roiia Bnird

(D) SLg. iféma
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Q54

Q55

Q56

Which of the following statements is

INCORRECT?

(A) The procedure for impeachment of the
President has been described in Article
61 of the Constitution of India.

(B) Impeachment motion can be presented
in any house of the Parliament.

(C) Impeachment resolution can be passed
by a majority of not less than two-thirds
of the total membership of the House.

(D) The President could be impeached for
violation of national security.

Who was appointed as the Finance Minister
of Indiaon 31 May 20197

(A) Arun laitley

(B) PiyushGoyal

(C) Nimala Sitharaman

(D) Rajnath Singh

According to a G-20 surveillance note,
prepared by IMF in June 2019, India’s
cconomy isexpectedtogrow  in
2019,

(A) 63%

B) 7.3%

(C) 83%

(D) 9.3%

LM-B
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Q54

Q55

Q56

Freifafaa 4 & @9 -1 oum e 7

(A) G & WieuE & sqee 619
wegafey & weifan & ufa &
auis fasar T &)
(B) wwifmr v wwg & fed o
wee # wea fvar o waar 8
(C) WEIMERT YT, \es & &l aewl
& d-foe 9 afe agaa & wlta
farar = W &1

(D) ¥rgafy o¥ Ui {ea & Fev B
fag weifid asmm on |@ &)

31 7 2019 &1 awE & R w0 & sy
Pretferfa 3 & R Prgae fsar
ur?

(A) 3o el

(B) Ry Marw

(C) Frten Harmor

(D) o fig

G 2019 9 g THOUE. (IMF) g1 &am
o120 P oo @ srar, 20199
el @) dpefaraver e foe wfitrew g9t
7 geig 87

(A) 6.3%

B) 73%

(C) 83%

(D) 9.3%
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Q57

Q58

Q59

Mahila Shakti Kendra (MSK) under the
Umbrella Scheme Pradhan Mantri Mahila
Shashaktikaran Yojana (PMMSY) has been
approved for implementation during .
(A) 2016-17
(B) 2018-19
(C) 2017-18
(D) 2015-16

Mahatma Gandhi was against______ of
India.

(A) slow industrialisation

(B) rapid industriaisation

(C) Britishmode of industrialisation

(D) American mode of industrialisation

Who among the following was swom in as
Chief Minister of Arunachal Pradesh on 30*
May 20197

(A) Jarbom Gamlin

(B) Kalikho Pul

(C) PemaKhandu

(D) Nabam Tuki

LM-B

4551 1681
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Q57

Q58

Q59

varHa afger wnfeasor ateen
(PMMSY) & aienfa wften ofde &
(MSK) =1 Fre=iferfaa o 9 e ol &
R FEana @ fog s fem
87

(A) 2016-17

(B) 2018-19

(C) 2017-18

(D) 2015-16

eI T AR @ @ fawg O
(A) Hg aienfiraiger

(B) e afrenfireiiaor

(©) sfeifisiwwr &) e vgf
(D) shenfraiawor o st vgfy

frafafaa % @ e 30 %€ 2019 &t
B WAV B e @ w9 § oy
&V HI?

(A) wam faferm

B) Wferan ge

(C) W Wiy,

(D) =am g
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Q60 Which of the following cyclones badly
affected the coastal districts of Odisha in May
20197
| (A) Cyclone Sani
| (B) Cyclone Fani
(C) Cyclone Tani
(D) Cyclone Kali

Q61 Which one of the following teams won the
Indian Premier League (IPL) trophy, 2019?
(A) Kings Xl Punjab

(B) Chennai Super Kings

(C) Sunrisers Hyderabad

(D) Mumbai Indians

Q62 In May 2019, the Central Government
created a new ministry by merging the
Ministry of Water Resources, River
Development and Ganga Rejuvenation and
the Ministry of Drinking Water and
Sanitation, What is the name of the new
ministry that has been formed as a result of
the merger?

(A) Ministry of Jeevan Shakti

(B) Ministry of Swachcha Ganga

(C) Ministry of Jal-Nadi Vikas

(D) Ministry of Jal Shakti

LM-B
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Q60

Q61

Q62

W% 2019 %, Fr=iforfae # & fre =wara
4 aifem @ ad Rt & 98 wE
wrfae faman?

(A) TEhard A

(B) =sharT Bl

(C) =hare TF!

(D) =hard Hiedl

gfegm Wiffmr ofhr (1PL) 1, 2019
Ffafd § & fa w2 oidi?

(A) f&m getas voma

(B) ¥ Y frw

(C) W RIETN BavEg

(D) Ha¥ sfeaw

7§ 2019, BT WRER A WA TEmH, T
fawre ok o wmEnEey HEem ok
YT S aesdl HAEd @ ey aed
UF 941 WA@Y g fawa ®
RYITREwT G AT WA = T g
SHHI AW T 87

(A) witas ufde H=mea

(B) W= T WA

(C) we—=d1 fawm Hamea

(D) wie ofde wA=mery

SERIES-B-B



Q63

Q65

LM-B

Which country conferred its highest honor,
the “Nishan lzzudeen’ on Indian Prime
Minister Narendra Modi in June 2019?
(A) SriLanka

(B) Maldives

(C) Nepal

(D) Isracl

is a famous 49-year-old veteran
Nepali Sherpa who scaled Mount Everest
for the 23" time in May 2019.
(A) Tenzing Sherpa
(B) Kami Rita
(C) AppaSherpa
(D) Phurba Tashi

India is estimated to have produced

million tonnes of food grains (rice and
wheat) during 2018-19.

(A) 183.37

(B) 38337

(C) 283.37

(D) 48337
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Q63

Q64

Q65

S 2019 ¥, ARG warErE g A1 B
Frafafiaa # @ fFa 2w 9 o wate
o, e gegEm W wenfhe fear
o7

(A) *iieient

(B) e

(C) rel

(D) FORIEA

_ vw s 49 adi S A
Aiegr & el 7 20199 237 TR A6e
TaNeE @ Hers g @ )

(A) TS ST

B) Hr e

(C) 3t ¥y

(D) T it

2018-19 & IWNH WRG W B fbad
ffers e armar (ame i W) @
Sores fhy @ @ S 87

(A) 183.37

(B) 383.37

(C) 28337

(D) 48337
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Q66 Which state produced the largest amount of

Q67

Q68

rubber in India in the year 2017-187
(A) Kerala

(B) Andhra Pradesh

(C) Odisha

(D) Kamataka

451716681

Q66

Which of the following share is contributed Q67

by the Agriculture and allied sector in the
India’s gross domestic products, 20197
(A) 14.39%

(B) 29.73%

(C) 15.87%

(D) 31.46%

What is the child sex ratio of Uttar Pradesh
as per Census report, 20117

(A) 898

(B) 912

(C) 916

(D) 902

Which of following valleys is NOT situated
in the Himalayan Mountains?

(A) Karewas

(B) Bhagirathi

(C) Kathmandu

(D) Araku

LM-B
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Q68

Q69

2017-18 % Fr=ferfan % & frw wow A
R ¥ Haw e vav &1 Ioara fasan?
(A) e

(B) e wEw

(C) anfeem

(D) ife®

HIRG & Hehel BNe], IR, 2019 % HfY
3 Hag & gRT Go o wftera |
&1 UPTET e g3 &7

(A) 14.39%

(B) 29.73%

(C) 15.87%

(D) 31.46%

T R 2011 & JITHR, SR gew
W are feleore @ &2
(A) 898

(B) 912
(C) 916

(D) 902

fFrefaflaa 3 | @9 €@ o), Rwea

udd sjaen # feua 78 87

(A) Hvard

B) wrfed

(C) wrowig

(D) Ty
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Q70 Who was the first woman Governor of a

Q71

Q72

LM-B

state in Independent India?
(A) Sharda Mukherjee
(B) Vijayalakshmi Pandit
(C) MargaretAlwa

(D) Sarojini Naidu

According to IMD World Competitiveness
Rankings, 2019, India ranked _ in
world's most competitive economy.

(A) 14%

(B) 244

(C) 43

D) 51

Bombay Stock Exchange appointed
as its first independent woman

director in May 2019,

(A) Jayshree Vyas

(B) Jayati Ghosh

(C) Rohini Pandey

(D) DevakiJain

4545 581
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Q70

Q71

Q72

wWod IRd ¥ 0 sy @) e afger
XToqyTe Hi o7

(A) IRET gE

(B) Rt gfea

(C) srfve arem

(D) WS =g,

amd taEt (IMD) fga wfowgut ¥ 2019
& IaR, favg it waifs sRrgates
seferawen @ WA § w4
T e

(A) 147

(B) 24"

(C) 43"

M) 51

qE YUY 9IIR | 7E 2019 # P

3 o W Afgen B & w5 o

frrgae foa |

(A) wgsh =
®) wrafiy H
(©) vl wie
(D) &l S+
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Q74

F
I Q75
|

Q73 Which of the following keyboard shortcuts

displays the Start menu in the Windows
operating system?

(A) Ctrl+2Z

(B) Alt+ Spacebar

{C) Ctrl+Esc

(D) Alt+Enter

Who among the following is known as the
‘father of computing'?

(A) Charles Babbage

(B) Tim Berners Lee

(C) Philip Don Estridge

(D) James Gosling

Windows 10 was first released as a preview
on which of the following days?

(A) 1January2013

(B) 12July2014

(C) 1 October 2014

(D) 12 December 2015

LM-B

AS691681
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Q73

Q74

Q75

fmferfie # @ ®1 @ g vea g
(& a8 vidwe) e wara womeh
@ERfET faven) # wid 4 # suid
27

(A) Ctrl+Z

(B) Alt+ Spacebar
(C) Ctrl+Ese

(D) Alt+ Enter

frfafaa # @ fow afm & sgfen
@ G @ WY W T o 87

(A) T Fao1

(B) fem oiel &

(C) ffem SiF g

(D) v TRk

fders 10 & vgdl U@ qafade & w9 3§
el 4 @ fsw fas ol fsar man
or?

(A) 1 w=ad2013

(B) 12 ST 2014

(C) 1 arkqax 2014

(D) 12 feHaw 2015
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Q76

Q717

Q78

Q79

Q80

Q81

LM-B

SECTION-3 | GENERALSCIENCE /ARITHMETIC | 50 QUESTIONS

The Goiter disease is caused due to the
hypofunction of:

(A) thyroid

(B) parathyroid

(C) thymus

(D) pituitary

The working principle of a transformer is:
(A) Self-induction

(B) Mutual induction

(C) Electromagnetic induction

(D) LorentzLaw

The wave nature of electrons was first
experimentally established by:

(A) Photoelectric effect

(B) Double slit experiment

(C) Davisson and Germer experiment
(D) Compton effect

Which is the causal organism of small pox?
(A) Rubellavirus

(B) Variola virus

(C) Ebolavirus

(D) Cytomegalo virus

The peptide bond is formed between:
(A) Amino group and hydroxyl group
(B) Two hydroxyl groups

(C) Amino group and carboxyl group
(D) Amino group and carbonyl group

Sickle cell anemia is caused due to the:
(A) deficiencyof folic acid

(B) Abnormal levels of haemoglobin
(C) deficiencyofiron

(D) production of less number of RBCs

Q76

Q77

45331681

Q79

Q80

Q81
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HHT (7igeR) W fhwd acuthgar &
HIO B 22

(A) ¥ag TR (amrigs) @

(B) 9ud oy (Irenadiss) @

(C) arew Hfer (o) i

(D) gy wfr (freged)

TRads (TrwrR) e foge w o9
ol &7

(A) Ty

(B) urvaf¥a gy

(€) Rgga-g=am wo

(D) oiva &1 M

goagiHT @) T AP @ e w0 g
veell o fasd g1 g fman mar ar?
(A) webre faega wamE gmr

(B) fg—vafoe (saa ) w@m g™
(C) e 3w wiR T g1

(D) Hives UG 5T

T (Wi Ula) &1 ITENG Wi B
| e?

(A) e Rum

(B) AR fmy

(C) e g

(D) HrEEHTE famm

YeRs 44 F P e dm ser 87
(A) 3nfFl g ol eEgifva wE
(B) = eEgifdad Wi

(C) 3T WHE AN Fraifrae FE
(D) 3T WE 3R FEiHe WE

R #ifter wwarew (Rea 9«
wifhan) feae s s 87
(A) wifers arat A @0 & SR
(B) EWrefaT & W WiR & SR
(C) g & & & Hrw
(D) arel wiERmpEl @ Sy ()
# B Fw
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Q82 Theproteincomponentoffood dietismainly Q82
responsible for:
(A) energyonly
(B) energy and growth
(C) growthand repair
(D) growthonly

is situated in:

(A) Ahmedabad

(B) Prayagraj (Allahabad)
(C) Hyderabad

(D) Kolkata

Q83 TheIndian Institute of Chemiical Technology § Q83
g

Q84 Which of the following microorganisms Q84
causes dysentery?
(A) Salmonella
(B) Shigella
(C) Leishmania
(D) Plasmodium

Q85 The study of all the factors that are Q85
responsible for the appearance of a particular
disease is called:
(A) Aetiology
(B) Epidemic
(C) Endemic
(D) Epidemiology

LM-B 29

BN W AER & W ued §@
wu W fud foy e 27

(A) Fae ol @ forg

®) st o gf @ fog

(©) gfE 3 W & forg

(D) @aa gfg & forg

st ety defrd wes G
ey Jin dftea eiEn) oE
Rerr #?

(A) JEwEmTE

(B) TR (geEET)

(€) tevmE

(D) e

vafde () Prefafmm A g s @
Wil @ sRor g 87

(A) wreFEn

(B) Rrten

(C) drerffan

(D) arnfEan

I TN HRE! BT AU FAT FEATT &
it @ Rrdm A @ wwe @ forg Swwerl
LG 14

(A) R

B) vhefis

(C) Wi

(D) vfr3fraiaioh
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Q86 Why is immunisation against common cold

Q87

Q88

Q89

LM-B

NOT very effective?

(A) No vaccine against common cold has
been developed.

(B) Common cold occurs due to climatic

(C) A large number of strains of rhinovirus
is present thereby making immunisation
inefective.

(D) The causal organism for common cold
has not been identified till now.

The Nobel Prize for 2018 in the area of
Physics has been awarded for the work in
the area of:

(A) Laserphysics

(B) Black hole

(C) Magnetic resonance

(D) Gravitational wave

Which of the following food items would
have highest per-gram calorific value?

(A) Ghee

(B) Maize

(C) Rice

(D) Meat

Ultrasound waves are NOT used for which

of the following purposes?

(A) Tolocate its prey by a bat

(B) Te know the depth of sea bed by a

ship

(C) Todiagnose defect in internal organs
of human body

(D) Todetect acroplane in any air space
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Q86

Q87

Q88

Q89

AR Wdi—gem @ [Aog S

siferes. wardl @l @ s 87

(A) W= HEi-Sam & favg ®ig 0
i1 [t =18l G a8

(B) W Tl Serary aRfefai
@ BRI BT B |

(C) & 4w % =g @ R
WHR [T ved & Gt S
BT YA 1 S E |

(D) ¥ HEl—gHm @ fon IR
oila @ gEATT 39 G% T8 &4 8

wiftr®l & & 9 2018 FT A WEEN
fmfeiftas 3 9 e & 9 fbe e @
@ fore fa=m mar &2

(A) ouR W & f

(B) =& &l & forw

(C) Hadr argme & forg

(D) ToamEdr a9 & fow

FreferRae # | fow @ gerl § a=dn
uftr am e 7= g &7

(A) H #

(B) wHar

(C) waga #

(D) #iw A

fwferiae # @ fva < & fag yema

AT (IregTrSs daw) 1 wan = far

arar 87

(A) THMES EWT 399 P @1 gar
R G

(B) Sie-uid W WiR I T8 B TEE
ST e

(C) ArE MR & anafa st # <t &
e s

(D) 3pTel &5 3 aRgA & AT S
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Q90

Q92

Q93

Identify the INCORRECT statement about

water cycle from the options given below.

(A) Evaporation of water facilitates cloud
formation.

(B) Water vapour comes in atmosphere
through transpiration only.

(C) Melting of snow is a part of water cycle.

(D) Sunlight is also responsible for
evaporation of water.

Q90

Count of coliform bacteria provides an idea Q91

of

(A) E coliinfection in blood

(B) presence of £ coli in intestine

(C) microbial contamination in river water

(D) microbial contamination in packaged
food

Solve the following.

42 -20Q5+16 +4x3 4 x 4)+5=?
(A) -5

(B) 4

(C) -4

(D) 5

If 1.5a = 0.2h , then fimd the value of
Ga-5b) 4

(Ba+5b) 27°

(A) 1

B) -1

€) 2

D) -2

=8
E
-
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Q93

A9 By e fRewl 4 @ oF 9w D

Ve # oa S @ UgEE o

(A) el @ amfigvor § areal o fFo
wrr &)

(B) Wil a1ey DHacd dreor & Aead
A @ arpiza A e )

(C) a9 & frere= oI =@ BT ¢ AT
L4

(D) o & amfiew & fog g &
waETe H Sewerdl g &

Freten ol @ wen frafafea
A 9 fraa an A U@ I wEE S
#?

(A) v 9 & slord &1 wmem

(B) ix # § #ang A aufrafy

(C) & & o ¥ el HgEm
(D) fEmmae o 4 gEoid Ggu

=i & g w9

42 -2(25+16 + 4 x 3 -4 x 4)+5=7
(A) -5

®) 4

©) -4

o 5

afd 1.5a=02p &

Ba-5b) 4 1 ar @ gem?
Ga+5b) 27

(A 1
B) -1
(€ 2
D) -2
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Q94

The product of the LCM and HCF of two
positive numbers is 72 and the difference
between these numbers is 6. The sum of the

_llmbersis:

Q97

(A) 6
®) 12
) 18
D) 24

Solve the following,

236-3.05+433=2
(A) 364
®) 334
© 344
M) 333

IF 8" x 647 5 40* x 25" = 40°,
then what will be the value of a?
(A) 0.5

(B) 0.7

(C) 09

D) 1

By which of the following largest number
should 2270, 3739 and 6677 be divided to
obtain the same remainder in each case?
(A) 1459

(B) 1469

(C) 1479

(D) 1489

LBOLLESY
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Q094

Q95

Q96

Q97

31 GRS R @ T WA ®
(LCM) afR w@wm wad® (HCF) &1
TR 728 3R 9 w7 6 @
3ioR © | Heait @ g a7 g
(A) 6

(B) 12

(C) 18

(D) 24

fFraferRen &1 ga a¥)

236-3.05+433=7
(A) 364
®B) 334
(€) 344
(D) 333

Al 81 x 647 x 40% x 25" =40°8, W
T W a1 B

(A) 0.5

B) 0.7

(C) 09

D) 1

yede Refa # wigew 9w s @
ferg wwamil 2270, 3739 st 6677 &1
ffefea 4 @ fa 9 9 o ven @
fewnfem frar s anfge?

(A) 1459

(B) 1469

(C) 1479

(D) 1489
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Q100

LM-B

X and Y are two compounds formed by the
combination of silver and copper in the ratio
of4:3and 4 : 7respectively. Equal quantities
of these two compounds are melted and
mixed to form a new metal Z. Now metal Z
contains silver and copper in the ratio of:
(A) 41:33

(B) 41:36

(C) 33:4)

(D) 36:41

If Raju cams 20% more than Vijay, by what .

percentage is Vijay's eaming less than that
of Raju?
(A) 25%
50
(B) 3%

© 3%

20
(D) 3%

A mobile was sold by two maobile sellers at
atotal gain of 45%. If the first seller sold it
at a gain of 25%, then how much gain
percentage did the second seller achieve?
(A) 20%

(B) 18%

(©) 16%
D) 14%

N

:

33

Q98 Xalw Y2 dfrs & o o 4: 3 ol

4:7% argur 3 =i ahv it B Py &
T ¥ 571 < Al A e e @
ey v 7 fm-arg z Pffa #
ot # | 3@, Ps—earg 29 =i o il
W1 I FaT Evm?

(A) 41:33

(B) 41:36

(C) 33:41

(D) 36:41

af w9, RS & 20% s ama sfdf
wvan 8, o Rom g s am weg
arT afite ama & gaen # R it
& B

(A) 25%

50

(B) 3-%

40
(C) ?%

20
D) T%

Q100 T Haga, =1 Haga Al gRT 45%

@ [ @™ W &= 7T e gEd o
T EN 25% B AW W d4 B, o g

fasen A o= vt @m wra fsar?
(A) 20%
(B) 18%
(€) 16%
D) 14%
SERIES-B-B




Q101

Q102

Q103

Q104

LM-B

A father and son working together can finish
a piece of work in 24 days. If, for the last 6

days, the father alone works, then the work
is finished in 26 days. In how many days
can the son alone finish the work?

(A) 72

B) 70

(C) 68

(D) 66

X, Y and Z completed a piece of work
costing T 4,480, X worked for 4 days, Y
worked for 6 days and Z worked for 8 days.
If their daily wagesare inthe ratio 5:6: 7,
how much amount will be received by X?
(A) T 800

(B) 1,200

(C) T2,400

(D) 3,000

A train leaves Hyderabad at 7 am and
reaches Vijayawada at | | am. Another train
leaves Vijayawada 9 am and reaches
Hyderabad 12.30 pm. At what time would
the two trains cross each other?

(A) 9:50am

(B) 9:56am

(C) 10:02am

(D) 10:08am

Atank 9 mlong, 4 m wide and (1/3) m deep
is duginafield 24 m long and 14 m wide, If
carth dug out is evenly spread out over the
remaining field, the level of the field will rise
by

(A) 4.5cm

(B) Scm

(C) 35em

(D) 4em

34

Q101 t& fen ik = frara fseh & &1 24

f&=t 4 g & e B afe, siftm 6 fem
foen s Frd v & o wd 26 R
# w8 o &1 99 e e Rt
# P gY@ waar 87

(A) 72

®B) 70

(C) 68

(D) 66

Q102 X, Y 3R Z 9 T 4,480 & ST AT U

o quf fan) X 7 4 = ol B, YA
6few afw 24 8 Rw &l R alR
S@! &FE 09 5:6: 7% IUE A 8,
a1 X ¥ faht an—aft fee?

A) T 800

(B) T 1,200

(C) 72,400

(D) ¥ 3,000

Q103 T YRS Ya§ 7 49 BIUAIE W W

et # afi gaw 11 71 Rorgargr aiedh
21 U@ o e R § g9 9
o g B § 3R gvER 123079
gevais Ygaa 81 IF Y@t @
T @1 fFa v aR e

(A) % 9:50T

(B) % 9:56 W

(C) | 10:02 1

(D) |48 10:08 W

QI04 24 med alR dmHE vF @O H Om

o, 4 m =@er afv (1/3) m 180 0F e
wrer T # | af @l g Al @ wmem
w0 9§ 9 @ A7 Samn o, o @ A
S fhatt @3 amedr?

(A) 45¢cm

(B) S5cm

(C) 3.5cm

(D) 4cm
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Q105 Atapcan fill a tank in 8 h. After half of the

tank is filled, four more similar taps are
opened. What is the total time taken to fill
the tank completely?

(A) 4h46min

(B) 4h48min

(C) 4h38min

(D) 4h30min

Q106 01-01-2012 was a Sunday. What day of the

week was on 01-01-20137
(A) Tuesday

(B) Wednesday

(C) Thursday

(D) Friday

+ Q107 Read the following statements and select the

correct option.

1. In60min, the minute hand gains
55 min on the hour hand.

2. Aclock is started at noon. The angle
traced by the hour hand in
5h 10 min=150°.

(A) Only statement 1 is true
(B) Only statement 2 is true
(C) Both the statements are false.
(D) Both the statements are true.

Q108 Inatriangle ABC, if £ A=90° then:

(A) SinA=SinB
(B) SinA=—S5inB
(C) SinA=CosB
(D) SinA=—CosB

LM-B

45967217
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Q105 T 71t 8 Ec # U Sl ) WX Wl & |

IEN TH W TH D 918, IH UPR B
R 3R 99F 9 Wiel 9§ @ B
goter: WA # He fba W e
(A) 462 46 fome

(B) 4 He 48 fiFe

(C) 45 38 fime

(D) 4 192 30 e

Q106 fa=iE 01-01-2012 =1 Waaw o) Rems

01-01-2013 P W8 1 F &1 R o
(A) HTAGR

(B) T9aR

(C) TR

(D) IFrar

Q107 fFr=fafea FoFET #1 ue i wél s

|

1. 60 firre & fire & g w2 o 4
# 55 frre am O 8

2. UT HE SUE D WHA ARA B
Wt 81 SE 10 fime ¥ |2 o ¥
ERT 1 T BT 150° 8

(A) @ad TYUF | WA B
(B) Pas T 29T £
(C) & T Iy €1
(D) =Ff weF we &)

Q108 Prjw ABC# afy £A=90° &, o &

fawey 941

(A) SinA=SinB
(B) SinA=—SinB
(C) SinA=CosB
(D) SinA=—CosB
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Q109 Ifx* - 3x + 1 =0, then the value of

x+x+(1x) +(1/5*) will be:
A) 7
B) 8
< 9
(D) 10

Q110 Angles A, B and C of a triangle are in

Qll1

arithmetic progression. AM is perpendicular
to BC. Find the value of BM/ARB,

(A) 1/4

(B) 13

(C) 12

(D) 34

10 is the mean of a set of 6 observations
and 5 is the mean of a set of 4 observations.
The mean of the combined set is:

(A) 7.5

(B) 8

(C) 8.5

D) 9

2
Q2 1f20% of A=0.350f B= 5 of C, then

Q113

A:B:Cisequalto:
(A) 14:8:7
(B) 12:8:7
(C) 11:6:5
(D) 13:8:5

15 litres of a mixture of milk and water
contains 5% water. How much pure milk
should be mixed with it to get a mixture
containing 2% water?

(A) 20.5 litres

(B) 21 litres

(C) 21.5 litres

(D) 22.5litres

LM-B

45007217

Q109 IR 2 - 3x+1=08 T +x+(l/x) +

(1/x%) T /9 F41 BFI?
(A) 7
(B) 8
(C) 9
(D) 10

Q110 & B & @9 @1 A, Balv C

QIll

HWiae &9 # 8 3T AM, BC TR o4
2| BM/AB &1 |19 941 2rn?

(A) 1/4

(B) 13

(C) 12

(D) 3/4

6 Vel @ e & W 10 8 &R 4
el & weEa @ TR 5 8 Al
Hedl &1 ARy & EAT?

(A) 7.5

(B) 8

(C) 85

D) 9

2
Q112 afE AFT 20% =B 0.35=CHl 3 g,

o A:B:C e wagea gmm?
(A) 14:8:7
(B) 12:8:7
(C) 11:6:5
(D) 13:8:5

Q113 15 R g 3R wie @ fysor 5% e

2| 2% Wit arar fBsor ue & @ forg
o fa g= g famn s anfee?
(A) 20.5 efrex
(B) 21&R
(C) 21.5 eftex
(D) 22.5«ex
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Qll4

Q115

A and B together can complete atask in 9
days, whereas B and C together can
complete it in 15 days. All three can
complete the task in 6 days. In how many
days will A and C together complete the
task?

|
(A) 67

B) 6

4
(C) 6;

) 63
Two pipes, A and B, can fill a cistern in 36
min and 45 min respectively. Both the pipes
are opened together in the cistem. After how
much time should A be closed so that the
tank is full in 25 min?

(A) 13min

(B) 14min

(C) 15min

(D) 16min

Ql16 Ifa*+ b =a’,thena®+ b*isequal to:

(A) 0

®) 1

€) @+ B
(D) &b+ ab?

LM-B

" Q14 AR B e 1T a9 R of aw
W € wafs Balv C e 39 15
et % of v v &) A v W
et @1 6 A1 9 qof & wad &) A
MR Cysw w fAeer a8 s faes
st ¥ qof wdr?

|
(A) 65
®) 6

4
(C) 6;

3

(D) ﬁ;

Q115 & ugy A 3R BUs 38 (Rresd) =

w36 e afiv 45 Pee o wv wan
1 g7 2 urgdt @ @S (Rre) # @
W e e 8| A @ o v A
4q fsar wrn =Ry 6 @5 (Rawed) 25
fre # s wmg?

(A) 13 e

(B) 14 e

(C) 15fFme

(D) 16 e

QU6 TR &+ b =g B A o+ b fuad

WA B
(A) 0

(B) 1

©) &+¥
©) &b+ ab*
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Q117 Whichofthe following organisms is a colonial
form?

" (A) Amoeba

(B) Chlamydomonas

(C) Polysiphonia

(D) Volvox

Q118 Identify the INCORRECT statement about

class insecta from the options given below.

(A) Ithas three pairs of legs.

(B) Ithas joined legs.

(C) Ithasone pair of legs in each body
segment.

(D) Ithas legs present in thoracic segments.

Q119 Ultra filtration and reabsorption process takes

place during the:

(A) circulation ofblood in vessels

(B) transport of gases through blood
(C) excretion and urine formation

(D) exchange of gases during respiration

Q120 How much percentage of fresh water is

available on earth?
(A) 30%

(B) 03%

(C) 03%

D) 0.17%

L LZED0GY

38

Q117 Frafafa 4 4 @% w oia ve BEfaa

® w@Wey § vear 87
(A) a3

(B) FEEHATH
(C) wiehfirmifrn

(D). dferdtas

Q118 i fay 7y fawet § @ o gy (#ie)

@ Hed A ET aua A ygas 9

(A) T @ o & o o &)

(B) 7@ & 9w § o 6 &

(C) 7@ ys wiv-ws i @ W
v 8 8

(D) T =g @t ¥ v RAaam
wd #1

Q119 ey Fredas sl grrarraivor ufdvan fsw

< Eh &7

(A) et # vaa WaIR & IR

(B) & @ 7w ¥ 4l B oRaEa @
G|

(C) werear 3R 3 o & =

(D) www= & v Tl @ I"E-wEm
EA

Q120 gedt wx fe=t uftverer emon ofe Suwear

27

(A) 30%

B) 03%

(©) 0.3%

D) 0.17%
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Q121 Which of the following does NOT
contribute to the pollution in water body?
(A) Heavymetal
(B) Ozone
(C) Microplastics
(D) Pesticide

Q122 Whichofthe following is NOT a greenhouse
gas?
(A) Water vapour
(B) Nitrous oxide
(C) Ozone
(D) Carbon monoxide

Q123 Methyl orange indicator changes its colour
at which pH value range?
(A) 3.1-44
(B) 1.0-3.1
(C) 44-58
(D) 58-7.0

Q124 Pharma vision 2020 is a programme 1o
develop India as leader in:
(A) Drug manufacturing
(B) Pharmaceutical research
(C) Providing human resource in
pharmaceuticals
(D) Drugdiscovery

Q125 Inwhich year Capt. Rakesh Sharma travelled
to space in a Soviet space programme?
(A) 1981
(B) 1982
(C) 1983
(D) 1984

LM-B
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Q121 Fr=fafeas 4 | 7o oo el o
BRI wgeY § ARTeE WeE el avar?
(A) W aTg
(B) S
(C) wrgmrenfieaw
(D) #HreaEs

Q122 Prafefam 4 & = v fesew W
d 87
(A) TIei Ay
(B) =g ATHES
(C) S
(D) wHF ARiTaES

Q123 s siffer Waas 5w pH aF dm
g YT T TEe &7
(A) 3.1-44
(B) 1.0-3.1
(C) 4.4-58
(D) 5.8-7.0

Q124 vl farw= 2020 wRa & fewd s
w1 A Rl o &1 @ aden 7
(A) afufer Fmtor
(B) afwfr seem
(C) sfmferat % wg SaEE WS Al
ELCEIR: 5!

Q125 des vy it A 5w af # v Wi
afafter @rdma 4 ofafRer o aran o 47
(A) 1981
(B) 1982
(C) 1983
(D) 1984
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SECTION-4| GENERAL HINDI | 25 QUESTIONS

Q126 W& I wdTW B g W @ Q129
TarEeer 87
(A Fvagaras
(B) sfFreemaras
(©) Froamas
(D) gz wdm

LEITHEY

Q127 [&ul, ¥ WwrR

Raa w w1 @ g e Ry Resdtd Q130

W SugE = g

(A) afy=Fe

(B) wrTa

(C) rfares

) afm=

Q131

QI28 w3 & waw ¥ Fr=forfer 4 9 frwa)

ST Fea &7

(A) Rz

(B) i

©) B g

(D) 9P FrETmE

LM-B 40

Frafafee # @ e v sftea
Hreng el § vl s fram,
SRy Ay & [y @ wET o g 87
(A) 1=

(B) uftwx

(C) sfrgen
(D) Frfea ardy

IR e s T 87
(A) fawt @

(B) w=fdg ™

(C) b=m avf @

(D) & &

o @ & =y # sar e | R
featt t s =m &)

(A) Fegfie v

(B) IFTRE T

(C) #fs wv

D) gfea @R
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Q132 ‘gEw @ wR-fwy T s
(A) S + T
(B) qq + W
(C) T + @

(D) 8 + ™

Q133
(A) RS
(B) ®Humg
(C) Tdga

(D) gfaT

Q134
& #9 | " 87
(A) qouaras
(B) Froaras
(C) Freaaares

(D) sfreaaaras

Q135
W wag fagior 87
(A) e
(B) s/
(€) =

D) &

LM-B

‘wowd' e wIre F1 ISE 87

‘I HEAT T T WA — g 7 Ywifda

WA A oW B — 9 A A

[T a4y 1]

41

Q136

Q137

0138

WO i dae 8y
et v e @ forg sfem = 97
(A) Wt
(B) ¥
(C) wd
(D) ¥d

wafthakRas 79
yaee W - Ra wF v & fag
SUYE e G |

(A) S=ifa

(B) wafa

(©) &

(D) s

@ TN TN vE g |l
(A) wirar
B) T
(C) uvrEm
(D) o
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Q139 W | = f&d wv)- fra aren & Ql42 <1 =R, F9 & '

TeTET™ 87 5 @ — aa B @ § Rea
(A) @eare # @ wr fawm Rres amer?
(B) wares (A) areufaem
(C) wraary (B) ar&favm
(D) Fj-Hare (C) poifererm
(D) awis faes

Q140 vz Rareh am ol | - 9 R

&1 99y &7 Q143 ‘&1 & v gr—wera 1 aef aend |
(A) smsTeim (A) a9 Eer &

(B) weErRi® (B) ¥ET Sief—ored) B

(C) Fori® \ (C) g & Taa

(D) wHaaaras (D) f&s & 7 W

Ql41 Fr=fafea # & @ wr arm wa &7 Q144 7§ #F v R AN T - AFfE

(A) 957 UF Tga & suarh o # &1 e = |
(B) ¥9 3R s Uw wie urf e (A) 7o # e wa o I )
el (B) wae wud faamn)
(C) % W & FHafal 9 fivwd (C) guFr e s |
o4 (D) 3o+ aftwra & @@y 89 A
(D) #iFwr & s W #) HEAT |
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Q145

Q146

Q147

LM-B

g B gy &1 FeEmE 6w
HE T 87

(A) 3R el

(B) g

(©) T By

(D) wg¥&R wHE

TR @ TEAER P 2
(A) Aftgedreror e

(B) e P

(©) v s Rwe

(D) Wa¥i®R wHg

fr=faftaa o &1 apgas A
afte A few v e (o s 148 -
150) & S°R 2|

areia o3 feamen & 5 ofms &1 @
g 3 e §, arerg ) @ gEN

43

Q148

gt 8, 3R aic 4 99 @ B A
T o T Rdwer &) g6 yeR
i o & smv @t egufen &
Fiftry wven & o ol ae o g
"heren e 8, a8 39 T o AU
B @ wivan &) g e anfaw
s wea w7 87 g9 Y A gunf @
wit ag & fored o1 oW daw @
T s s asmA oI
Suafar # amn 7 87 Tl of 8 W
9 W R—arsr | affier anen ad
2, et o 5 gund war f T 8, um
v @ & o o9 Rrfdam oo g, aiR
I fmm @ 9% 9w IwA ¥ 9N
feaman &, ot gerf g3t af @9
T waR UE e o e dfas
I S T8 B, qfew va vl
T W g 8, Wiy ww A
e A @ gu it e
e ®) g9 SR Arafta & gea t
o o0 qured | o 8 g W
8 W w1 ® ) anag # 9f) offes @
v WA v Arl # ofw i arifet @
TS UIad & Bnn 8, v anife
& 781, afew wit st &), wifs wh
Tl @ Tt aiR Frafy o @ &)

SRR T & wyfEa ides gfi
(A) Wias &1 U I

B) wm A Frafy

(C) W gt 3l s

(D) e | qfew
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Q149 IR A T HEGOT BT | Q150 VUG MWW B JER W qgY &
(A) =¥ Wi &1 o W ud anf @

IR wfh gt F1 v uea et %) Wik % vy v v ¥
Fen B &, ol eifae & = (A) ==

e Tt @), @ity wh 5

et @ ifae ofw Pafy o & i

2 (©) Fraf

(B) #rwira ge Rramar & & ofes &
& I 3R @ 8 I A
@ wa afe &, afw e ¥ 9w
AL & UTH HY AT N
e &)

(C) == ot & amwa &1 sgufen
T o st s & v oEl
% 99 6 avaa fod & 98
9 @89 O JUER B9 & uikar
gl

(D) Wi g9 offew & dsg &) @
D IU uH @ 9fea F goen
Bl 9= # w & IR Pad
e A8 & afcs 9w aiw B
ST €, 9 Svafer # wie T 8
g, ford gef & g & wam
8| 39 wan e + Wy
Fgita g gsen @ o as
qurf & UHER B Wy g
A e AreRYr & g
W At W e g €

(D) g

-

4
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44T 14THE

ROUGH WORK /% @ & fav
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sE)ATIR

ROUGH WORK /75 i & fav
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ROUGH WORK /%% 31 & farg

L=
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Read the following Instructions carefully :

fFr=fafaa Aol & e @ 9@ -

L. Qut of the four allematives for each question, only
one circle for the correct answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not lishle
to be changed

2. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.

3. Handle the Test Booklet and Answer Sheet with care,
08 under no circumstances (except for discrepancy in
Test Booklet), another set will be provided.

4. The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet.

5. Each candidate must show on demand his / her Admit
Card to the Invigilator

6. No candidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her
scal.

7. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidute has not
signed on the Attendance Sheet will be deemed not 1o
have handed over the Answer Sheet and dealt with as
an unfair means case,

8. Use of Pencil/Electronic/Manual Calculator is
prohibited.

9. The candidates are governed by all Rules and
Regulations of the Commission with regard o their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission.

10. After Examination is over, candidate has to return his
Answer Sheet to invigilator. Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall,
Candidate is only allowed to take Candidate’s copy of
answer sheel.

11. Candidates are not allowed to take Test Booklet with
them. They bave to submit the Test Booklet to the
Invigilator after the exam.

1. Y& 9 @ oy Ry ) ar Rewi @
el 9N @ fov a vn, IR, 9w uEe W
3 U3 M 1 @ g 7w o1 9 o
W A W) UF N SR S fy o @
q% 99 el T8 o wEan &
gl ghifEa & o o gEw @ A
A WU U9 SH W $F 3 e | Fe
gl argen arpEEie TR gEe A PaiRa
wF & afRe amrm 7 o
e gReE vd ST UEE BT A
W &, Wifs A N Ry § @aa
TRIE g # 0 B o8 @) gEd gden
qRa®T Td 9T yES Sucier T8 @M
AT |
4. wiE gRrat & @ i aden gRias e
o gl w8 ol § ol vas A
fordd |

5. U8 WH W Ude ghundl, s amades B
YT WY yAS fram |

6. IENEE AT HE FNerd H A Ry D
fan 1% afemft soer w1 B

7. DI T RTINS BT AU TN UG 20
fam ofemfl sw wm A e afe
el gfemefl 7 sufefy = W EwRR
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